4H2 #%-
1. ROFERET %KD XK,
(FRaFE5)

(D I=J‘(3x+1)ezx+l dx

@ 1= Ixz cos(2x+3)dx

(3) 7=[(2x+1) log(2x+1)dx

4 1= Ie“ cos2xdx

2. RONERD =KD X,

(B fafE o))

1) I= jsinS xcosxdx

(2) I:J'COS)C dx

sin® x

3 I= Iloﬁdx
X

@ 1=[(2x+1)(x*+x+1) dx

(5) 1=I X dx
x2+1



4H2 %

L RONERIT ZRD X
(8 7)

(1) 1=[(3x+1)e"" dx

oy oy
(3x +1) &=

\2 st _ 1
\

+(0)  « iez“l

]
I=(3x+1)- i 3. %€2X+1+C
_ 6x+42—3 e (6x_‘1‘)eh+1
(2) I:Ixzcos(2x+3)dx

+C

oy oy

+(x*) cos(2x+3)
2x \% 2x+3
0 el
\T‘ —ésm 2x+3)

I:%x sin(2x+3)+%xcos(2x+3)fisin(2x+3)+C

3) 1= I(Zx + 1)3 log(2x+1)dx

oy ey

+(log(2x+1)) (2x+1)°
- 2 | i1
_(2x+1j T 22+ 3

I:é(2x+l)4 log(2x+1)——[(2x+1)

:%(2x+1) log(2x+1)————(2x+1)' +C

1

4 2.4
=é(2x+1)“1og(2x+1)—i2(2x+1)

(@) I:J‘ebr cos2xdx
(AF)

Ie‘” cosbxdx = azejbz

(acosbx+bsinbx) +C

ax

Ie‘“ sinbxdx =
WD

asinbx —bcosbx)+C
a2 +b2( )

3x

3?42
3x

- 613 (3c0s2x + 2sin 2x) + C

]:

~(3cos2x +2sin2x) + C

2. RORERD ZRKD X,
(B fafE o))

(1) I:J‘sinsxcosxa?x:‘[(sinx)5 cosxdx
t=sinx > dt=cosxdx LV

I:J‘t5 dt :lt6+C:lsin6x+C
e 6

cosxdx

©@ 1= jc"“dx j

s x

cos xdx

SlIl X

t=sinx > dt=cosxdx LV

I:J'l5 dt :.[t‘Sdt:Lt‘HC
e —4
cos xdx
:_—1+C: ,_14 +C
4¢ 4sin” x

(3) I:J.k)ﬁdxzjlogxldx
x x

tzlogx—)dt:ldxc]: )
x

I= Itdt=§t+C— (logx)’ +C

—d\'
X

@ 1=[(2x+1)(x*+x+1) dx
t=x"+x+1>dt=(2x+1)dx XV

I:Its(zﬁ%d Ly +C—6(x +x+1) +C

2xdx

1 1
5) I=[—-2 gr=-[—oo
'[\/x2+1 * 2J.\/x2+1
t=x"+1>dt=2xdx XV

dz_—J'zzdt —212+C— +1+C
21

=3l



